























Lakeshore®

2695 E. Dominguez St. Carson, CA 90895

Phone: 800-421-5354 Fax: 310-632-8314

Legend:

Lakeshore Exclusive Items Shown in Design Layout

COMPLETE CLASSROOM® FOR **TODDLERS - AGES 24-36 MONTHS**

Recommended furnishings and resources for a toddler room. Enrollment of 8. The materials selected for this planner support ITERS and NAEYC standards.

When purchasing this Complete Classroom, complimentary white-glove services are available, including:

- Free shipping
- Unpacking and assembly
- Supervised classroom setup
- Debris removal

White-glove services are valued at 20% of your order, and can be donated in-kind to your program. To view products, go to LakeshoreLearning.com.

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES			
CUBBIES AND COMMUNICATION									
AA107	First Steps® Sign-In Communication & Cubby Center	49	\$379.00	1	\$379.00	GREENGUARD® Certified			
AA629	First Steps® Cubbies and Coats Storage Center	49	\$499.00	1	\$499.00	GREENGUARD® Certified			
PH346	24" x 36" Magnetic Write & Wipe Board	236	\$69.99	1	\$69.99				
HH438	Write & Wipe Magnet Bars - Set of 6	web	\$14.99	1	\$14.99				
PP281	Magnetic Storage Boxes - Set of 4	web	\$14.99	1	\$14.99				
	CHA	NGING ST	ATION						
HH447	Store-It-All Wall Unit	36	\$259.00	1	\$259.00	GREENGUARD® Certified			
HH448	Step On Up! Toddler Changing Table	36	\$829.00	1	\$829.00	GREENGUARD® Certified			
NS17	Extra Roll of Bags	36	\$39.99	1	\$39.99				
QJ578	Disposable Sanitary Gloves	36	\$3.99	1	\$3.99				

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES
		NAPTIM	Ē			
AA156	First Steps® Locking Supply Cabinet	48	\$459.00	1	\$459.00	GREENGUARD® Certified
AA911	Lakeshore Toddler Cot Carrier	38	\$69.99	1	\$69.99	
AA905	Lakeshore Easy-Stack Toddler Cot - Set of 5	38	\$245.00	1	\$245.00	
AA900	Lakeshore Easy-Stack Toddler Cot - Each	38	\$49.99	3	\$149.97	
AA910Z	Lakeshore Toddler Cot Sheet - Dozen	38	\$135.00	1	\$135.00	
AA910	Lakeshore Toddler Cot Sheet - Each	38	\$11.99	4	\$47.96	
BR302BU	Backpatter's Seat - Blue	38	\$49.99	2	\$99.98	
GE202GRZ	Cotton Thermal Blanket - Dozen - Green	36	\$139.00	1	\$139.00	
GE202GR	Cotton Thermal Blanket - Green	36	\$12.99	4	\$51.96	
	MA	NIPULAT	IVES			
AA158	First Steps® Play-Top Storage Center	47	\$369.00	1	\$369.00	GREENGUARD® Certified
AA596	First Steps® Corner Storage Center	47	\$199.00	1	\$199.00	GREENGUARD® Certified
DG586	Low 30" x 48" Rectangular Table	43	\$219.00	1	\$219.00	
DG509	9 1/2" Heavy-Duty Stacking Chair	43	\$45.99	4	\$183.96	
AA150	My First Magnetic Maze	64	\$39.99	1	\$39.99	
EE439	Big Knob First Puzzle Set	62	\$49.99	1	\$49.99	
EE788	Let's Go Fishing! Playset	56	\$29.99	1	\$29.99	
TB125	Simple Shapes Puzzle Board	57	\$19.99	1	\$19.99	
FF444	Color Rings Sorting Board	57	\$19.99	1	\$19.99	
JJ434	Sort-A-Shape Activity Board	57	\$19.99	1	\$19.99	
AA478	Puzzle Builders	57	\$39.99	1	\$39.99	
LA766	Tower Builders	57	\$44.99	1	\$44.99	
LL300	Dishwasher-Safe Plastic Basket - Large - Natural	41	\$16.99	2	\$33.98	
FB997	No-Fail Lacing Set	56	\$29.99	1	\$29.99	
	В	LOCK PL	AY			
LC161	Navy Blue Rectangular Carpet - 6' x 9'	105	\$229.00	1	\$229.00	
AA158	First Steps® Play-Top Storage Center	47	\$369.00	1	\$369.00	GREENGUARD® Certified
AA596	First Steps® Corner Storage Center	47	\$199.00	1	\$199.00	GREENGUARD® Certified
LA591	Toddler Bristle Builders®	58	\$29.99	1	\$29.99	

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES
CB213	Jumbo Cardboard Blocks - Starter Set	23	\$24.99	1	\$24.99	
DC177	Tub of Cars & Trucks	61	\$49.99	1	\$49.99	
FF514	Toddler Unit Blocks	54	\$149.00	1	\$149.00	
FF854	Soft & Safe Community Helpers	61	\$34.99	1	\$34.99	
LC91	Lakeshore Clear-View Storage Box	111	\$6.99	3	\$20.97	
LL300	Dishwasher-Safe Plastic Basket - Large - Natural	41	\$16.99	1	\$16.99	
LL304	Dishwasher-Safe Plastic Basket - Small - Natural	41	\$10.99	1	\$10.99	
LL505	Light & Color Tabletop Blocks - Class Set	35	\$49.99	1	\$49.99	
FB307	Soft & Safe Flexi Blocks	55	\$29.99	1	\$29.99	
RA432	Crystal Building Blocks	65	\$49.99	1	\$49.99	
	DF	RAMATIC F	PLAY			
AA520	All-In-One Toddler Kitchen	61	\$549.00	1	\$549.00	GREENGUARD® Certified
AA321	Toddler Dress-Up Center	114	\$279.00	1	\$279.00	GREENGUARD® Certified
AA158	First Steps® Play-Top Storage Center	47	\$369.00	1	\$369.00	GREENGUARD® Certified
LC118	Navy Blue Round Carpet - 6'	105	\$169.00	1	\$169.00	
AA686	Low 30" x 30" Square Toddler Table	43	\$189.00	1	\$189.00	
DG509	9 1/2" Heavy-Duty Stacking Chair	43	\$45.99	2	\$91.98	
HH721	Toddler Dollhouse with Soft Furniture	59	\$129.00	1	\$129.00	
EE557	Lakeshore Hardwood Doll Highchair	127	\$79.99	1	\$79.99	
EE558	Lakeshore Hardwood Doll Crib	127	\$89.99	1	\$89.99	
TT788	Doll Bedding Set	127	\$24.99	1	\$24.99	
DD470X	Lakeshore Washable Baby Dolls - Complete Set	126	\$74.99	1	\$74.99	
PP746	Soft & Washable Hispanic Girl Doll	126	\$29.99	1	\$29.99	
PP747	Soft & Washable White Boy Doll	126	\$29.99	1	\$29.99	
HH991	Black Soft & Safe Family	59	\$29.99	1	\$29.99	
HH992	White Soft & Safe Family	59	\$29.99	1	\$29.99	
HH994	Hispanic Soft & Safe Family	59	\$29.99	1	\$29.99	
HH642	Indestructible Pots & Pans Playset	118	\$29.99	1	\$29.99	
LDA178	Indestructible Play Dishes - Service for 4	119	\$19.99	1	\$19.99	
LM365	Best-Buy Play Food Assortment	121	\$49.99	1	\$49.99	

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES		
LL304	Dishwasher-Safe Plastic Basket - Small - Natural	41	\$10.99	1	\$10.99			
AZ985	Push-Button Play Phone	122	\$14.99	2	\$29.98			
AA789	Soft & Safe Doctor's Kit	web	\$29.99	1	\$29.99			
TT215	Toddler Dress-Up Trunk	59	\$99.50	1	\$99.50			
	AF	RTS & CRA	FTS					
DD615	Connective Furniture Play-Top Storage Unit	45	\$379.00	2	\$758.00			
DD622	Connective Furniture Toddler Archway	45	\$149.00	1	\$149.00			
DD642	Connective Furniture Wave Panel - 18 1/2" to 30"	44	\$159.00	2	\$318.00			
DD634	Connective Furniture Connector - 18 1/2"	45	\$21.99	2	\$43.98			
DD637	Connective Furniture Connector - 30"	45	\$24.99	2	\$49.98			
DG586	Low 30" x 48" Rectangular Table	43	\$219.00	1	\$219.00			
DG509	9 1/2" Heavy-Duty Stacking Chair	43	\$45.99	4	\$183.96			
DD219	Toddler Painting Center for 4	150	\$259.00	1	\$259.00			
AA342	Washable Fingerpaint - 10-Color Set - Pints	148	\$29.50	1	\$29.50			
AX20	Lakeshore Dough Assortment Set 1	146	\$56.99	1	\$56.99			
LA278	Uppercase Alphabet & Number Dough Stampers	146	\$29.99	1	\$29.99			
LA532	Lowercase Alphabet Dough Stampers	146	\$24.99	1	\$24.99			
BS500	Jumbo Washable Watercolor Set - Each	150	\$4.49	8	\$35.92			
LA712	Giant Washable Color Ink Pads	145	\$27.99	1	\$27.99			
LA820X	Lakeshore No-Spill Paint Cups - 10-Color Set	151	\$11.99	2	\$23.98			
LC1340X	Nylon-Bristle Paintbrushes - 10-Color Set	151	\$8.99	2	\$17.98			
LC323	Heavy-Duty Toddler Vinyl Paint Smock - Blue	152	\$6.99	4	\$27.96			
LC91	Lakeshore Clear-View Storage Box	111	\$6.99	6	\$41.94			
LL688	Learn to Count! Dough Mats	147	\$9.99	1	\$9.99			
PX2020	Lakeshore Fully Washable Liquid Tempera Paint - 10-Color Set - Pints	148	\$29.50	1	\$29.50			
TA4409	White Drawing Paper - 9" x 12"	154	\$9.99	2	\$19.98			
TA5316	Fingerpaint Paper	154	\$7.99	1	\$7.99			
TA9	Newsprint Easel Paper - 18" x 24"	148	\$16.50	1	\$16.50			
VX735	Best-Buy Jumbo Crayons - 8-Color Box	142	\$59.99	1	\$59.99			
LC654	Super-Safe Tabletop Paper Center	155	\$39.99	1	\$39.99			
©2017	©2017 Lakeshore www.LakeshoreLearning.com/classroom Phone: 800-421-5354 Pricing valid through 12/31/2017. 10							

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES
TA50RD	Construction Paper - 9" x 12" - Red	154	\$1.19	1	\$1.19	
TA50RG	Construction Paper - 9" x 12" - Orange	154	\$1.19	1	\$1.19	
TA50GB	Construction Paper - 9" x 12" - Bright Green	154	\$1.19	1	\$1.19	
TA50VT	Construction Paper - 9" x 12" - Violet	154	\$1.19	1	\$1.19	
TA50BU	Construction Paper - 9" x 12" - Blue	154	\$1.19	1	\$1.19	
TA50YE	Construction Paper - 9" x 12" - Yellow	154	\$1.19	1	\$1.19	
TA50SB	Construction Paper - 9" x 12" - Sky Blue	154	\$1.19	1	\$1.19	
		LIBRARY	1			
DD615	Connective Furniture Play-Top Storage Unit	45	\$379.00	2	\$758.00	GREENGUARD® Certified
DD624	Connective Furniture Straight Panel - 20" x 22 1/2"	44	\$119.00	1	\$119.00	
DD626	Connective Furniture Straight Panel - 33" x 22 1/2"	44	\$149.00	1	\$149.00	
DD629	Connective Furniture Wave Panel - 18 1/2" to 22 1/2"	44	\$149.00	2	\$298.00	
DD634	Connective Furniture Connector - 18 1/2"	45	\$21.99	2	\$43.98	
DD635	Connective Furniture Connector - 22 1/2"	45	\$22.99	3	\$68.97	
LC161	Navy Blue Rectangular Carpet - 6' x 9'	105	\$229.00	1	\$229.00	
EE369	Hardwood Side Table	109	\$49.99	1	\$49.99	GREENGUARD® Certified
FF645	Just Like Home Toddler Comfy Couch	39	\$199.00	1	\$199.00	
FF647	Just Like Home Toddler Comfy Chair	39	\$159.00	1	\$159.00	
AA692	No-Climb Bookstand	47	\$139.00	1	\$139.00	
CF379	Calming Colors Pillows - Set of 5	107	\$129.00	1	\$129.00	
RA216	Classic Board Book Story Collection	168	\$64.50	1	\$64.50	
RA319	Best Behavior Board Book Collection	168	\$47.50	1	\$47.50	
RE485	Ocean Animals Board Book Library	62	\$34.50	1	\$34.50	
RA368	Soft & Squeezy Ocean Animals	129	\$29.99	1	\$29.99	
RA324	Multicultural Board Book Collection	168	\$59.50	1	\$59.50	
RA709	Dealing with Feelings Board Book Collection	168	\$57.50	1	\$57.50	
FF704	Feelings & Emotions Washable Dolls	61	\$95.00	1	\$95.00	
RE484	Colors & Shapes Board Book Library	62	\$31.50	1	\$31.50	
RE486	Things That Go Board Book Library	62	\$35.50	1	\$35.50	
CR210X	Classroom-Tough Mobile Fleet	123	\$59.99	1	\$59.99	

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES
RR584	Big Mouth Animal Puppet - Duck	131	\$9.99	1	\$9.99	
RR582	Big Mouth Animal Puppet - Pig	131	\$9.99	1	\$9.99	
RR585	Big Mouth Animal Puppet - Dog	131	\$9.99	1	\$9.99	
EV367	Magnetic Construction Vehicles	web	\$15.99	1	\$15.99	
TS429	Touch & Feel Discovery Books	62	\$39.99	1	\$39.99	
CF639	Click & Pose Farm Animals	web	\$19.99	1	\$19.99	
	CIRC	LE TIME/	MUSIC			
AA625	Nature's Playground Activity Carpet - 6' x 9'	97	\$299.00	1	\$299.00	
AA156	First Steps® Locking Supply Cabinet	48	\$459.00	1	\$459.00	GREENGUARD® Certified
JJ234	Classic Birch 4-Way Teach & Store Center	74	\$349.00	1	\$349.00	GREENGUARD® Certified
EE493	Classroom CD & Single Cassette Player	135	\$199.00	1	\$199.00	
CD101	Sing, Learn & Play CD Collection	134	\$39.99	1	\$39.99	
EB723D	Children of the World CD	134	\$15.99	1	\$15.99	
KM132	Multicultural Rhythm Stick Fun CD	10	\$15.99	1	\$15.99	
JC13	Rhythm Stick Activity Kit	10	\$29.99	1	\$29.99	
LC241	Heavy-Duty Drums - Set of 4	133	\$39.99	1	\$39.99	
DD127	Lakeshore Wrist Ribbons - Set of 12	10	\$24.99	2	\$49.98	
CA609	Sing-Along Read-Along Classics with CDs	168	\$29.50	1	\$29.50	
TF273	True Tone Xylophone	web	\$21.99	1	\$21.99	
LC91	Lakeshore Clear-View Storage Box	111	\$6.99	2	\$13.98	
RA478	Heavy-Duty Rhythm Set	133	\$49.99	1	\$49.99	
BK660	Big Red Barn Big Book	169	\$24.99	1	\$24.99	
RR581	Big Mouth Animal Puppet - Cow	131	\$9.99	1	\$9.99	
BK371	Brown Bear, Brown Bear, What Do You See? Big Book	169	\$27.95	1	\$27.95	
RR586	Big Mouth Animal Puppet - Bear	131	\$9.99	1	\$9.99	
BK321	Goodnight Moon Big Book	169	\$24.99	1	\$24.99	
AA166	Polar Bear, Polar Bear, What Do You Hear? Toddler Storytelling Kit	63	\$29.99	1	\$29.99	
AA167	Little Blue Truck Storytelling Kit	63	\$29.99	1	\$29.99	
AA168	Duck & Goose: Goose Needs a Hug Storytelling Kit	63	\$29.99	1	\$29.99	

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES
AA169	The Rainbow Fish: Counting Storytelling Kit	63	\$29.99	1	\$29.99	
BK356	Polar Bear, Polar Bear, What Do You Hear? Board Book	63	\$7.95	1	\$7.95	
BK357	Little Blue Truck Board Book	63	\$7.99	1	\$7.99	
BK358	Duck & Goose: Goose Needs a Hug Board Book	63	\$6.99	1	\$6.99	
BK359	Rainbow Fish: Counting Board Book	63	\$7.95	1	\$7.95	
LL302	Dishwasher-Safe Plastic Basket - Medium - Natural	41	\$13.99	1	\$13.99	
RR583	Big Mouth Animal Puppet - Frog	131	\$9.99	1	\$9.99	
BK460	Polar Bear, Polar Bear, What Do You Hear? Big Book	169	\$26.99	1	\$26.99	
AA808	Touch & Learn Picture Card Library	64	\$39.99	1	\$39.99	
		SCIENCI				
AA158	First Steps® Play-Top Storage Center	47	\$369.00	1	\$369.00	GREENGUARD® Certified
AA596	First Steps® Corner Storage Center	47	\$199.00	1	\$199.00	GREENGUARD® Certified
DD657	Super-Safe Color Viewers	64	\$19.99	2	\$39.98	
DD659	Super-Safe Mirrors	64	\$19.99	2	\$39.98	
LL304	Dishwasher-Safe Plastic Basket - Small - Natural	41	\$10.99	2	\$21.98	
AA866	Lakeshore Toddler Science Center	64	\$69.99	1	\$69.99	
RA362	Soft & Squeezy Wild Animals	129	\$29.99	1	\$29.99	
RA367	Soft & Squeezy Farm Animals	129	\$29.99	1	\$29.99	
DD614	Super-Safe Specimen Viewers	64	\$29.99	1	\$29.99	
RA369	Soft & Squeezy Dinosaurs	129	\$29.99	1	\$29.99	
RR416	Color-Changing Touch Board	27	\$39.99	1	\$39.99	
TS429	Touch & Feel Discovery Books	62	\$39.99	1	\$39.99	
	LEAF	RNING CO	RNER			
AA158	First Steps® Play-Top Storage Center	47	\$369.00	1	\$369.00	GREENGUARD® Certified
AA596	First Steps® Corner Storage Center	47	\$199.00	1	\$199.00	GREENGUARD® Certified
DG509	9 1/2" Heavy-Duty Toddler Chair	43	\$45.99	4	\$183.96	
DG586	Low 30" x 48" Rectangular Table	43	\$219.00	1	\$219.00	
FF188	Big Knob Learning Puzzle Set	62	\$49.99	1	\$49.99	

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES	
GG366	Building Language Discovery Boxes	web	\$59.99	1	\$59.99		
AA388	Color Discovery Boxes	65	\$59.99	1	\$59.99		
PP158	Infant/Toddler Photo Library	62	\$39.99	1	\$39.99		
LL278	Ladybug Number Match	196	\$19.99	1	\$19.99		
AA220	My First Counting Frame	65	\$24.99	1	\$24.99		
AA775	Button Size-Sorting Box	56	\$19.99	1	\$19.99		
FF186	Early Math Activity Center	190	\$39.99	1	\$39.99		
LL774	My First Sorting Bears	web	\$29.99	1	\$29.99		
LL112BU	Heavy-Duty Paper Tray - Blue	111	\$6.99	1	\$6.99		
LL112GR	Heavy-Duty Paper Tray - Green	111	\$6.99	1	\$6.99		
ENTRY TO CLASSROOM							
DD641	Connective Furniture Extra-Wide Safety Gate	44	\$349.00	1	\$349.00		
DD637	Connective Furniture Connector - 30"	45	\$24.99	2	\$49.98		
DD632	Connective Furniture Wall Adaptor - 30"	45	\$29.99	2	\$59.98		

Subtotal \$18,674.43

^{**}Please include appropriate sales tax for your area or provide us with your sales tax exempt number.